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(Q2.) 243,162,108, 72,48, .

(Q3.)1.2,0,24,120, _____,

(@Q4.) 2,0,12,20,20, .,

(@5.) 141,133, 125, 117, 109,

06.)0.1.3,7.15,

(Q7.)1,2,3,4,5, 6, , . ... (there is NO typo in this sequence)

(@8.) 0.1.0.1,0,



Calculus
560|VUGI’1666 & Series

[Explicit Formula] The new term is based on the value of n

Example: a, = 2’;; First five terms: % % é %, %—?
" 1 2 3 7
n (1" (2) (3 (4) (5
" Tonrt | 2041 | 2241 | 2211 | 24)+1 | 2(5)+1

e a, as a, e

~—~= A A

Example: a, = -5, a, =4 a4, +7  FEirst five terms: -3, =5, —15, =45, 17
- ——
tom e
n 1 2 ) 4 5
iven to be 4(—2)+7 4(—5)+7 4(—-15)+7 4(—45)+7
a =4%a +7 g _3 B B B B
=-5 =13 = —45 =173

[Series] Adding up the numbers in a sequence
©

Example: 2(8 —2n)

n=2
. n=>=2 n=3 n=4 n=>5 n==6
Y @—2n= (&—22)+ (8—23) +(8—2(4) + (8-2(5) + (8—-2(6))
n=2
Arithmetic Sequence Geometric Sequence

Keep adding a number: Keep multiplying a number:
common difference d common ratio r

A" term a =a +(n—"14 a =ar"™

of the first g, =2(a +a,) 5 =2
nterms ! 1—r




